17.(Aa,a) = (a,A*a) = (0, Aa) = (Aa,a) = (Aa,) = R
18.(=)FAERJLRAL, FERANE—FIEGEv, WEGHFIEEN
H Av = v, (Av,v) >0, 87 (Av,v) = Ow,v) = A(v,v) = A|v| > >0=X>0.
A B9 LEAAAR R B HK

(=) FAWGIIEAR A 4, WAL —AREESIET A A %
AR AGEIFIEGELR, AV, v, STEFLEER A, N,
Av, = N, VE B, eR™.

FAVacV,aTRETH Y e, C,Vk
k=1

n

T%(Aoz,a)(Ai:ckvk,i:ctvt) = th (Ai:ckvk,vt)
k-1 =1 1 E—1

t=

n o n n o n n n o
:E Q(E %AWWJE Q(E %MWWJ§ E Aecx ¢, (vg,v,)
t=1 k=1 1 k=1 t=1 k=1

t=

{vpprE B _n

- Z)\kck Ck (Ukavk): Z)\klck|2lvk|2>0
E—1

e
A LR RAK

19.(2) T # o R R4 T L0 45 AE{A

A G4 AE R = v, 3 JF O 45 AE{E A

HAv= I, 1 A%v=A(Av) = A(Ow) = \Av = \*v

WAL A N >0, 3K AGHFIAEAR 2 B

HA?RERJRAEE

() Bt: SR ERTLRAFTIHRA, W AE—EATEERET R AR
XA G AN ELIRFIEREAER, THV, 0, SEFEERT N, N,
Av, =\, VEk BN e R".

F U ER LR AR #B: By, =/ N\,

thH A= B?

—t: XA=B*=C?, W (B+C)(B—-C)=0

SAXAB+CAERL AT, TAB—-C=0, #B=C

20.AA" —(AA")" = AA"JL R K4

AT# = AR 04

AW IEE Fo, 3 A

Ao = Jv, Av = Av= AA"v = A(Av) = A (Av) = \dw =A%
IA|?>0,% AA* E % Jo R K4



21.ABJi R 4% < AB —(AB)" < AB— B*A" — BA
23.(1)(2) = (3):A— A" AA"—~E— A~ AA"—E
(2)(3) = (1):AA"~E,A>~E—A—AAA"—EA" — A’
(3)(1)= (2 A>~EA—A = AA" — A*—E

MA=BUHSB=UAH
A=BU = A*=U*B* = AA* = BUU*B* = BB*
B=UA=B"=A'U"=>B'B=A'U'UA=A"A

T AA* = BB* . IhT A, BRIEZJURKKZER, M A= A%, B=DB".

FRA*=B".= (A+B)(A-B)=0.

X A- B3R a. §(A+B)a=0.

HIE R JE R K R E L ((A + B)a,a) = (Aa + Ba, o) = (Ao, a) + (Ba,a) > 0(# a # 0)

i (A + B)aya) = (0,0) = 0. a=0.# A~ B=0. % A= B.#U=E

25t #E [0 B R T S ST £ KR B A YT 5 18 A U, By, 327 By 4 0E % Hermite X 3%, U, A B & .
T2 A"A=B;B, — B2 £ % Heimite % 4%, 5 197 ] 40 B, /2 7 — 9.

) 22 VT 1% R K 3 A YT 58 A B,U,, 3 B, £ 2 Hermite T2, U, 7 B £ 3, B, Z°FE—8).

26. R EIL:ASR TI,HA ARER Hermite &, iX /K.

28 .75 JE4E 5 FF 75 |54, B 12 i & Hermite 89 Ay, ¥ i & Hermite 89 B,

1215 A=A}, B=DB}, T2 AB= A, (A, B)) (A, B,) "A; ', BP AB#aA F ¥ E =% 49 (A, By) (4, B)) "
12.(=) A 2R,

(<=)FE A Jordan 52, 8 THANZUrF XA T A AL, T2 A 49 Jordan 2 XA

KT 1M 89 Jordan 3, # A ST AR AL, A =V, @ DV,

Check:V, LV, ,Vi,j

EIRacV,, BV, ¥EVHZHREF 2,0, 4| (A3 A

2 B T4 (. 5) = 0.

WAEE T 422V, -, V) A ER, ¥ A & Hermite .



